
 

               

               

                 

     

     

        

           

        



    

                

    

     

 

 

  

   

         
 

 

 

 

 

                

  



 

 



 

 



  



   

 

 

  

 





       

 

 

 

 

     

 

 

 

 

           

            

            

              

               



        

 

 

 

 

   

  





  

         

 

 

 

 

                    

     





 

 

 

 

            

  

  

  

   

                     

   

 

 

 

 

            

 

 

 

 

                  

 

           

           

          

                   



              

 

 

 

 

        

 





 

 

 

               

 


 


 


 


                  
  
 

 

 

 





INSTRUCTIONS FOR MARKING
IN THE

OMR RESPONSE SHEET

1. Use only H.B. pencil for filling the response sheet

2. Mark your answers in the proper column

3. Enter your Enrolment no., year, month, course code and examination code in the
respective boxes given for that as shown below.  For example if your enrolment
number is 071645498, then you need to first write the enrolment number as shown in
the box titled enrolment no., given below.  Then you have to dark each circle
corresponding to each digit appearing in the enrolment number.  Suppose, for
example, the leftmost digit is 0.  So we darken the first 0 in the box.  Next digit is 7.

Similarly you can fill the other digits.

Note that the Course Code you have to fill in the OMR sheet is the computer code
for this course which is 1114. This is different from the course code given in the
programme guide or blocks for this course.

ENROLMENT NUMBER COURSE
CODE

YEAR

0 7 1 6 4 5 4 9 8 1 1 1 4 2 0 0 7

EXAMINATION
CENTRE CODE

MONTH

1 2 4 6 0 6

4. For filling the correct choice for the multiple choice questions, do as illustrated in the
following example.
Suppose Question 13 is as given below:





Q.No. 13.: Which one of the following is not an integer.
(1) 1 (2)
(3) 0.5 (4) 0

0.5
you have to select the column against no. 13 in the boxes given below and write 3 in

and shade the circle numbered 3 in that as shown below.  If your
answer is such that none of the 4 options are correct, then select 0.

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
3





OMR Response Sheet
(For writing answers to multiple choice questions)

This page is to be torn off and after filling the relevant boxes attach it along with your
answers to other questions in the assignment. This is to be submitted at the study centre
for evaluation.

ENROLMENT NUMBER COURSE
CODE

YEAR

EXAMINATION
CENTRE CODE

MONTH

ANSWERS TO MULTIPLE CHOICE QUESTIONS

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20




